N Linearized knot diagam

Solving Sequence
1._/

6’94’74’1,2*’5 3 4 8 C1,C3,C7
A knot diagranﬂ C6 o 5 €2 = s
Ideals for irreducible component#ﬂ)f Xpar
I =(—u®? =20+ 420+ 1, —u® +3u — 20> 20 +a+4u—1, v + 3+ —u—1)

I'=0*-b+1,a+1, u—1)

* 2 irreducible components of dim¢ = 0, with total 25 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(—u*?—-2u*'4+-.-4+2b+1,

(i) Arc colorings

()

ag —
w=(u)
1
a7= u
o= ()
wl —3ut +2ud 4+ 2u® —du+1
a2: 122+u21+ +2U_§
%u +3u?t 4 2u2—§
as = —gu22 4u21+ tu+ g
3u21—|— c—u+1
asz = %u +2u21—|— uz—%
—u?? - 4+ pu+1
ay = %u — 4 a3
—u? +1
ag = \ —y* 4 2u?
—u?+1
ag = \ —y* 4 202
(ii) Obstruction class = —1

(iii) Cusp Shapes
= 30?2 4 342 — 32420 — 194 + 155u!® + 15017
450ut2 4+ 12216t — 359410 —

—ub + 3u?
1, u?3 +3u?2 4 ...

—u—1)

— 432416 4+ 194415 4 6900 —
83912 + 820u8 — 2u” — 401ub + 227u’® — 220t — 21u3 +u? +u

—2u8

—2u2 +a+ 4u —

758ut3 —



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® —2u*? + .+ 18u—9
Ca,Cs uB P4 —2u—1
C3,C8 u® —u* 4+ 8u+4
4 uB 120 4 —2u—1
Ce, C7, C9 uB —3uBP 4 —u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“ y* —12y%2 + .- — 450y — 81
€2, Cs yB 12y -2y — 1
c3,C8 y® + 15y%2 ... — 40y — 16
C4 yP 24y 410y — 1
Ce, C7, Cy yB 23y Ty —1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.696926 + 0.6785631
= —0.371551 — 0.4576371
0.386982 + 1.1208801

—4.15124 + 1.331351

—7.15950 — 0.675751

0.696926 — 0.6785631
—0.371551 + 0.4576371
0.386982 — 1.1208801

—4.15124 — 1.331351

—7.15950 + 0.675751

1.026370 + 0.2309691
—1.271710 — 0.0693581
0.179248 — 0.7018991

—2.10210 — 0.888781

—6.39291 — 0.925771

1.026370 — 0.2309691
—1.271710 + 0.0693581
0.179248 + 0.7018991

—2.10210 + 0.888781

—6.39291 + 0.925771

= 0.443194 4 0.8309871
—1.84438 + 0.304511
0.501837 — 1.1371001

—3.32060 — 6.477711

—4.77780 + 6.521941

0.443194 — 0.8309871
= —1.84438 — 0.304511
0.501837 + 1.1371001

—3.32060 + 6.477711

—4.77780 — 6.521941

0.411789 + 0.6575521
= —1.215710 — 0.6394181
0.657802 + 0.2010771

—0.66432 — 2.002151

—1.23588 + 3.627051

0.411789 — 0.6575521
—1.215710 4 0.6394181
0.657802 — 0.2010771

—0.66432 + 2.002151

—1.23588 — 3.627051

1.31043
—0.0893487
—0.616508

—2.78711

—2.32390

—1.349890 + 0.0507651
1.185670 4 0.2151121
—0.730473 — 0.8123171

> 2@ €|l 8 €| © 8| 2@ €|l & &8 @ 8| 2 8|l 8 8| 2 &> o =g
I

—3.41052 + 2.744381

—6.00137 — 3.420751




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —1.349890 — 0.0507651
1.185670 — 0.2151127
b= —0.730473 + 0.8123171

a =

—3.41052 — 2.744381

—6.00137 + 3.420751

1.42968 + 0.095201
0.89149 + 1.367191
b= —0.449028 + 1.1437901

u =

a =

—5.84331 — 3.995881

—6.60901 + 3.498001

1.42968 — 0.095201
= 0.89149 — 1.367191
= —0.449028 — 1.1437901

S
|

—5.84331 + 3.995881

—6.60901 — 3.498001

—1.48042 + 0.248171
—0.537692 + 0.5565731
0.868940 — 0.2438561

—6.80889 + 5.359001

—4.49542 — 3.067931

—1.48042 — 0.248171
—0.537692 — 0.5565731
0.868940 + 0.2438561

—6.80889 — 5.359001

—4.49542 + 3.067931

—1.51052 + 0.305161
= —1.54699 + 0.698631
= 0.565955 + 1.1905101

—9.6533 + 10.62071

—7.02627 — 6.456501

= —1.54699 — 0.698631
= 0.565955 — 1.1905101

—9.6533 — 10.62071

—7.02627 + 6.456501

= —1.55320 4 0.178151
= —0.002579 — 0.5873011
= 0.282827 — 1.2458401

—11.61980 + 1.643881

—9.30470 — 0.402721

= —1.55320 — 0.178151
= —0.002579 4+ 0.5873011
= 0.282827 + 1.2458401

—11.61980 — 1.643881

—9.30470 + 0.402721

0.008249 + 0.4254341
= 0.49224 — 1.83322]

a
b
u
a
b
u
a
b
u
a
b
uw = —1.51052 — 0.305167
a
b
u
a
b
u
a
b
u
a
b = —0.476560 + 0.6305791

0.71923 — 1.374481

2.70178 4 4.351241




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.008249 — 0.4254341
= 0.49224 + 1.833221
= —0.476560 — 0.6305791

0.71923 + 1.374481

2.70178 — 4.351241

—0.277376 4 0.2773321
2.26589 — 1.328001
—0.479277 — 0.9626791

—0.27712 + 2.596531

1.46303 — 3.786361

—0.277376 — 0.2773321
2.26589 + 1.328001
—0.479277 4 0.962679.1

U
a
b
U
a
b
U
a
b

—0.27712 — 2.596531

1.46303 + 3.78636.1




IL I = —-b+1,a+1, u—1)

(i) Arc colorings

= (o)

w= (1)
o= ()
w-(3)
w- (3)
" (—bb+11>
AN
w= ()
w= (1)

e )

(ii) Obstruction class =1

(iii) Cusp Shapes = —4b—1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
C1,C4,Cs w—u+1
€2 u? +u41
C3,Cg u2
2
Cg, C7 (u — 1)
C9 1)?
(u+1)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 y2+y+1
Cs
C3,C8 312
2
C6,C7,Cy (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape
1.00000
= —1.00000 —1.64493 4 2.029881 | —3.00000 — 3.464101

0.500000 + 0.8660251
= 1.00000

= —1.00000 —1.64493 — 2.029881 | —3.00000 + 3.464101
= 0.500000 — 0.8660251

11



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

“ (u? —u+1)(u?® = 2u®? + - +18u — 9)
2 (W +u+ 1D+ 20?2+ —2u—1)

c3, Cg u?(u® —u 4 -+ 8u+4)
¢4 (w? —u+ 1D+ 1202 + - —2u—1)
C5 (w? —u+ D+ 20?2+ —2u—1)

Ce, C7 (w—1))W?® = 3u? 4+ —u+1)
€9 (u+ 1) W® =3u*2 4+ —u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 (2 +y+1)(y* — 12922 + ... — 450y — 81)
c2,¢5 W +y+ 1) +1202 4 —2y — 1)
¢s, Cs v (y* + 159%2 + - — 40y — 16)
€4 (v +y+1)(y* +24y*' +--- + 10y — 1)
€6, €T, Co (y=1H* - 23y +--- =Ty — 1)
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